Fem — X fawg— fasim JFA— 3:15 BT quifd  — 80
1, I B APIR  —
B 9. I SERIN gfererd
1. Eikl 23 28.75
2 TG / AU 31 38.75
3. SFI9ANT / 37fegfae 19 23.75
4 PIeTet / AtfeTdhdT 7 8.75
T | 80 100
2, Ul & YHR TG JHIR —
3 9. el & UBR gel d | 3 Ui | F fd | ufderd SEEIERISED
REe RS
1. RS / Igfdbedrcad
2 HfTTgTRIHD 11 1 11 13.75 22 foe
3. TERRIHSD | 10 3 30 37.50 50 fAeTe
4, TERRIAD | | 6 4 24 30.00 60 fec
5, IBECIRIEY 3 5 15 18.75 38 fiFe
I | 30 80 100 170 fiee
I AT - U= 27,2829 9 30 H T gRIEAHT — 10 fAe
3. v qeg o1 FHuR — geq UF gl —15 e
P9 T PR gfcrerd
1. AISTE TG AT @R 4 5.00
2. GIECENE| 6 7.50
3. SRCINEI 4 5.00
4, gfeRe Ud Ve g 3 375
5, <fvr® Shas & arH 4 5.00
6. IMATIE AT T SARD 3 3.75
7. URATY] RIgI, Tedl BT 3fTach aiiidpRor & | 5 6.25
T[0T
8. PEd Ud D D 4 5.00
9. EaN| 5 6.25
10. [EERICIN 5 6.25
11. P, 3ol Uq I7fed 5 6.25
12, THRg UTchfcieh GTE 4 5.00
13. IR Ud SHBT Ua= 3 3.75
14. UGy UG STl & 3MMdid Ag 5 6.25
15. gl Bl R 3 375
16. SEIUS TG old faard 3 3.75
17. U] & d18” Sigd DI Il 3 3.75
18. ARAT dsM+d: Shiae IR Td Sudfrai | 3 375
19. St fafderdr g sadT AReTor 5 6.25
20. agd gref e 3 375
IRT | 80 100

U~ BT YU
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A™i® Roll No.
Il

TEAT U U Aredfie e 2018
SECONDARY EXAMINATION,
MODEL QUESTION PAPER-2018
fasm
SCIENCE
99 3%a ¥ve qoTie—80

wNefefal & forv g A
GENERAL INSTRUCTIONS TO THE EXAMINERS:

1, RIeTeft U 3ruW UeH UF TR AMid Srfarid: ford |
Candidate must write first his\her Roll No. on the question paper
compulsorily.

2 Tt ued R A €
All the questions are compulsory.

3. IS U B IR, dl Tg ITR—YRADT H &1 ford |
Write the answer to each question in the given answer- book only.

4. R ool # oNfaRe @vs g, 89 91 & IR Ud A1 & ford |

For questions having more than one part, the answer to those parts are to

be written together in continuity.

5. UeT UF & fZl T ISl R # fh U @ Ffe /R /
fORIEmT 8 WR 2= 9T & U9 &I Hal A |
If there is any error\difference\contradiction in Hindi &English version of
the question paper, the question of Hindi version should be treated valid.

6. AT EEGIREE] 3ih UAd U
a1 1—11 1
g 12—21 3
9 2227 4
T 28—30 5
1
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Part Question Nos. Marks Per Question
A 1-11 1
B 12-21 3
C 22-27 4
D 28-30 5

U3 HHih 27 I 30 ¥ 3MdRd Adboq 2 |

There are internal choices in Q.no. 27 to 30.

U3
SECTION-A
Rf o1 Bl g 91 Td geo u—urE o Wi, faeifiE & o | B
arel s AT & Aeror & ? (1)

Deficieney of which vitamin causes the bending of the leones of legs
and the knees coming closer ?

Rt & a1 fofT Mm@ M faRay | (1)
Write the sexual harmones of woman. (Two Harmones)

Tedid S0 T AT o forfag | (1)
Write the general formula of alkene series.

Rh ®R& &I Aol {6 USTfd & §ax 3§ gg° (1)
Write the species of the monkey in which Rh factor was discovered ?
fIed 9 v aRT Fa® &1 Ui g 9918y | (1)

Draw symbolic sing of electric cell and rheostate .

9 91 <A 1 Ud I #iex # & @ dR &1 qEs fiRay | (1)
Write the unit of work when force is in newton and displacement in
meter ?

qr Adreoi FarEt @ 9H ol | (1)
Write two names of renewable resources.

feefifRar g feeaa & & f5d IpR & gfoRelm & Seexor 2 7 (1)
What kind of examples of immunity are the vaccinations of Diphtheria
and Titenas?

frdl 9 & WRR BT S UMY ii & O SFhT BiER o faRay | (1)

Write the blood group of a person whose genotype is ii.

2
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10 AYAFE! UTe™ & & IAT&T &AM Ty | (1)
Write two names of products of culture.
11 Stafafderar @ afRamr faley | (1)

Write definition of “Biodiversity”.

GUe—q

SECTION-B
12 TG, AfGRT T ABH & Jaq F A9 WReY WR Bl dTel |yHTal Bl
T (AP B a—a) | 1+1+1=3

Explain the harmful effects of use of tobacco, alcohol and opium on
human health giving two examples each.
13 Ggw, fOReUE ud siqEesiy siffsharell &l g2 arell Th—Ud
ARG FHIDHRT gy | 1+1+1=3

Write one chemical equation for each showing addition, replacement
and dissociation reaction.

14 1 & LU.P.A.C ¥ forRau |

H H H H
Lo
(1) H—C—C—C—C—H
I T
H H H H
(1) H—C=C—H
H
|
(M)  H—C=C—C—H
I
H H H
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15

16

17

18

19
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Write 1.U.P.A.C names of the following.
H H H H
I I I I
H—C—C—C—C—H

H—C=C—C—H

(i) ST fe UBR 99 =19 BT 9gaT <ol & ° \AHsSY |

(i) I & SIR W uga g SRl &1 Heberd 54 qae d foba
AT 8, BT AH RIT 8 7 2+1=3

(i) How does the shift farming (jnoom) encourage deforestation.

(ii) Write the name of the book containing the collection of the

species on the verge of extinction.
319 37U ITH /Aol H MURTE Yaed B RIT—FI1 U HRAT ? Dlg
aE 1+1+1=3
What steps would you take for the waste management in your village/

colony. (any three)
fagdfe wifeaal 9 wed & ? fer 1 sraRe fAad~e wfeaar o

U BHIFAY | 1+2=3
What are dispersive powers? Describe any two internal dispersive
power.

JEve & Scafa & fardT g &1 dera # qofq #ifsTe | 3

Describe Big Bang theory of the generation of universe.
(i) ST 2016 ® WRA 7 Ud AT o SUUE faRke # Big ?
(i) ofer w8 ?
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(ili) RT BT (AR Tor=dl &1 9 faIlRay | 1+1+1=3

(i) How many satellites were lounched by India at the same time in june
2016 ?

(i) What is an alien ?

(iii) Write the name of the space agency of India.

T T gHferd BIfoTy | 1+1+1=3
(i) wied ARl & fodr (A) BT SRR AT

(i) YRT B qSHT (B) g5[a

(iii) ¥R uRAE fage & fOdn (C) ST |l 3reft

Match the followings

(i) Father of plastic surgery (A) Homi Jahangir Bhabha
(ii) Bird man of India (B) Sushrut

(iii) Father of Indion Atomic science (C) Dr. Salim Ali

(i) BELT ®Y A 100 mlTH H Yeplaiel dl Af¥wad fdha- A= FeiRkd
g7
(i) Teese W Ut T & YR T U B A} fgasran Srar g 2
(iii) aTel @ 90 H fH9 yBR @1 AT gRT yarfzd Bl 2 ?
1+1+1=3

(i) By law how much amount of alcohol is permissible in 100 ml blood.

(i) Why is yellow colored paper or tap stick on headlights ?
(iii) What kind of electric current flows in vehicle’s batteries ?

(i) HUSE =1 U WANT & foly Hex &1 Ul & i g1 ? ARAT

(if) TGSl o (T T) vd F9gol di (tt) § g PR FHvoT R

TR YT YRUMAT IR SR JMaRiedr & FHl § 9 {5 v s &1
AHESY | 2+2=4

(i) Why did mendal select peas plant for his experiment ? Explain.
(ii) Explain one low of heredity obtained from the result on mono

hybridcross of a tall homozygous (T T) with dwarf one (tt) .

23

(31) p" YA @ oA gRT AHSIRY |

5
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@) (i) Pl & b AR W TAT W STl T &8Il & 7

(if) ST H AT IgH WR B UH & oY gl &Rl BT IUANT
o ST 7 °? 2+1+1=4

(A) Explain p" scale by a diagram.

(B) (i) Why is there skin burning sensation on being stung by insects
(ii) Why are weak bases used for relief on increase in acidity in stomach

=1 aRueli § A9 B & 7 o IR &1 a1 | 2+2=4
(i) / (ii)
§ : :
AN —

Calcufite equivalent re?istance between A and B e following
circuits.

. 29 e

(i) (ii)

VAN
A B

X I TR I T UBIEI W Fed © o] SaTs 15 HIex | Ter 9
X QFI BT IO SRR © ol b 38 Kg 2| 19T 99 UBTel & oY W)
19 HHUE H U © Sididh GuIT 15 Hhvs H &1 Ugel & WY W uga
SITAT & | QM1 §RT UBTSl R ¥e § &9 &I MY W BT YIdh—yord
HH S BT | (g =10 m/s?) 2+2=4

Suresh and Ramesh climb on a hill which is 15 m high Ramesh and Suresh

have same weight of 38 Kg Ramesh reaches at top of the hill in 19 sec.
Where as Suresh reaches in 15 sec. Calculate the power used by them
separately in climbing .

5l TR Nwefy ureul & | Ud aEfae A9 foilRau | 1x4=4

Write common and botanical names of any four medicinal plants.

6
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27 g fafdgar @ g9 & o STReR fh=l IR dRul & fad==T Hifse

3dr
eI Uollfardl Bl gar & o RIS Ud I Wk R b
T TI—<T YA BT FHSU | 2+42=4
Interpret any four reason for degradation of Bio-diversity.
OR

Explain two effects taken at International and National level each to save
disbursed species.
28 (i) ura= T &1 AHIfhd =—E a4 =Y |

(i) STox=x< # SuURerd USIigH & A1 U9 S9d BRI foRay |

(iii) 9IST BT aiferd Urae Td AT, YraG & 7T 91T H BT
BT A4 forRay |

ayerar
(i) SIS T3 &1 AFifhd I a918d |
(il) =@ # g3 fomtor @ ufohar AHESY |
(iii) =T gRT SARTT B dTel &1 Sl uarRll & A forfay |
24+2+1=5

(i) Draw a labelled Diagram of Digestive System.

(ii) Write the name & function of enzymes present in fabric juice

(iii) In which part of digestive system maximum digestion and absorbtion
takes place.

OR

(i) Draw a labelled Diagram of excretory system.

(i) Explain the process of urine formation in humans.

(iif) Write two excretory products which are excreted by skin.
29 (i) 7Sl @ A AR & <A T vd A Qi forfag |

(ii) =1 Tedl Bl I URATY] T & ggd HH H IRy |

F, C, Li, Be

ayerar
A, (i) 3B & WA Hied B ARAT B dTel a9 favg fotfRay |
(ii) YERBIS & YA AiSe BT MR HUSH BT Ulred’ FAT HAT ST 27
(iii) YexwIS wieer @1 a1 BE iRy |
B. 7 Tcdl T S dTfcads N & ded HA  foffRay |

7
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(i) Write merits and demerits three each in periodic table given by
Mandeleev.
(i) Arrange the elements in ascending order of their Atomic Radius
F, C, Li, Be Yat+Ys4+2=5
OR
A. (i) Write there postulates of Rutherford’s Atomic model.
(ii) Why Rutherford’s Atomic model is know as “Model of Solar
System.”
(iii) Give two short-comings of Rutherford Atomic Model.
B. Arrange the elements in ascending order of their metallic property
Ya+/2+2=5

30 (i) Aa == @1 GEAT & AHifhd 7F 9 ™Y |
(i) Frpe gfe, SRgMe, vd SRIgRE QY & $ROT fRay gd g9 Qi &l
R B & U fafag | 2+3=5

ayerar
(i) 579 o favg Sradercyur &I Ihdl BT Ud Bied & §ia § @1

Sirar € a1 fevor o gt ufafaw @1 Refd gwiigy |

(i) uprer & e @t g falRay |
(iii) emuac= & W faRag | 2+41+42=5
(i) Draw a labelled Diagram of human eye.(ii) Write reasons and remedies
for Myopia, Hypermetropia and Presbyopia.
OR
(1) Draw a ray Diagram which shows location of image when an

object is placed between radius of curvature and focus.

(ii) Define Refraction of light.(iii) Write laws of Refraction.

http://www.rbseonline.com



fIsm—S<} A1l

http://www.rbseonline.com

2018
RiECa] 3D
9T 31 (Part-A)
SfTeTERIRIcHD U2
1 |Ra&cH 1 1 1
2 | OIS, USRI Votls | 1 22
3 |C,Hon 1 1 96
4 | geprebt NIA (Macaca rhesus) 1 1 44
5 |98l Udie e Vot | 1 130
6 |3 1 1 145
7 | AR Sofl, gaq Soll Vobs |1 163
8 | Mfena ufcrern 1 1 41
9 O 1 1 a7
10 | 9r8S T AgHHA Vol |1 185
11 | “Slract=gall § urg S qrefl fafd=ar, fawAar qen 1 1 226
giRRerfdara Sifeerar &1 wia fafdudar s 8 1
qT § (Part-B)
12 | TR, HIQRT T ABIH & HaT A B dlel qI—al 1+1+1 | 3 5,6
BuUTd fore W
DIg A T A AMTHAT, A ud e | 1+41+1 | 3
13 | ffspamen &1 i srffbar fore wR 64,65,66
I. =g 1+1+1
14 | II. TersH 3 94,96
I, g+
15 | S Tl B FHM T BRI FH TR 2+1 3 164,166
Methods of waste management
16 | (=81 09 udd =R 1 (D) 1+1+1 | 3 | 176,177,
178
17 | fAadfe wfdaal o gk foras = fa=l a1 1+1+1 | 3 | 192,193
dR® faadfe wfdaal & dfera # forgm ) o
SATATHE!, b, AT 3Mfe # &1 & IR H foras
ry
18 | Big bang theory ferg W 3 3 201
I. 20 S9UE
19 11. quﬁ D qTeN D AId BI Q‘[%{q—.-[ Eﬁﬁ é‘ 1+1+1 3 214,210,
[II. ISRO (&%) 212
20 | Sfd M o1 R (U$ Aol Ha™ W 1 3id) 1+1+1 | 3 | 220,222
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AT feiRa 2 |
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21 | Il &9 ®IER 4 S@A & forg 1+1+1 | 3 | 237,240
I. fese faggd arm (DC)
9T | (Part-C)
22 |9 & UlGU & IIA D Ifod RO for@s R fhl 242 4 | 33,3536
UHh 9 & dHR de HTHY FHSH W
23 | o §= 52 999 ) 2+41+1 | 3 56
TP H 3F AT HRA & 9 el & HROT @l
TR STl 9 & BIdT & | 3%l &I 3T AT Bl
SeNIF B & forg
24
2 136
20
U—1 HI fel U’ R=R;+R,
R=2+2
=40
UI—1 T 2 Bl oI UfcRI™ i1=1+i3
R R R A
1 1 1 142 3
— == =
R 4 2 4 4
R=2¢
3
(ii)
ZQMN
Ri H;J_ 2
A B
WS
R R

2Q 2Q

G—1 P Fel TR R=R +R,=2+2=4 Q
U—2 B oI URCRIYT R'=R,+R,=2+2=4 Q

Tof—1 T 2 BT o YRR — = 44

R" R R
R W C3
R' 4 4 4 4 2
R'=2Q
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t t
_ 38x10x15 — 380 watt
. m1g5h 4 157
(i) p=_=7 2
= 380X 300 ane
19
26 | Pl IR & 99 I¥H WX 1 3d 1X4 4 183
27 | Safdaydr & g9 @ folv STRerR fhwsl IR dRon 1X4 4 | 231-233
CIRCEERICAS IEE
OR
International effects @ national efforts & & 2X2 4 | 233-234
TI—al TN fored R
9T © (Part-D)
28 I. = |Erm 2 2 5 9,13,11
I e deF-suU<Rs 1X2=2
NER] B — RThA
1. ®Ie ard 1
OR ,
Ii. 2 = 2.9 5 . 2021
. m e YtV
I. =@, gRarfdesd v, T
Hydrocarbon (any two)
29 | 1. o9 7 g A9 QW B foree wR 2X1%
II. F<C<Be<Li 2
OR 1XY;
~ 2 5 77,81
A | L EER @ ww Aed $ i fag foem w|
II. ¥E SR forgd w "
[[I. SIS Afed &I g HEAr forgs =) 1
II. Li<Na<K<Fr 2
B.
[. = =934 2
II. fiwe 3fe, M vd SRIgfe J & dRor | 1X3=3
g IU foRg R
30 OR 5 110,114,
[. <2 oo fom 99 ) 115
II. 3m™acs @ RS i
. 3mads & 5
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